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Use blue and black inks only

Define/clarify social balance somewhere
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Give different perspectives In thesis and antithesis, validate those perspectives by inclu

~ Examples. Do not simply negate your previous point using the same sentence structure
Such as points 5d and 4d
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The outline Is not comprehensive. It contains only a few significant arguments.
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Give different perspectives in thesis and antithesis, validate those perspectives by including
Examples. Do not simply negate your previous point using the same sentence structure
Such as points 5d and 4d

The outline is not comprehensive. It contains only a few significant arguments.
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What does this example has to do with the second part of the sentence ?




More than

Evidence ?
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No need to use such indicators
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Do not u e pronouns for m O
Longer p s
‘—l'


Do not use pronouns for 
Longer periods







Evidence ?





The writing style Is more rhetorical than an academic and formal one.
e transitions should be subtle tham exptici

There are not sufficient evidences.

There are too many spelling mistakes -



The writing style is more rhetorical than an academic and formal one.
The transitions should be subtle than explicit. 
There are not sufficient evidences.
There are too many spelling mistakes 




